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able to handle at least this. Assum-
ing that a current of 30 mA is the 
maximum for the measuring circuit 
we choose a 220 V/12 V transformer 
to give us approximately the right 
ratio (600/30). 
The voltage loss across the winding 
in the primary circuit is relatively 
small. In the ideal case the resistance 

and leakage of the transformer are 
small enough to be ignored so the 
voltage loss is only the LED voltage 
divided by the transformer ratio. 
The transformer secondary must 
always be connected to a load, for 
both positive and negative half-
cycles. This is the reason for adding 
a second LED or a diode in the cir- 

cuit. Without this load the primary 
winding would act as a normal coil 
which would result in a higher 
voltage drop across the primary and 
a higher voltage at the secondary. 
This diode or LED also protects the 
LED against high reverse voltages. I( 

grabs your attention 

One of the great things about com-
puters is that no matter what you tell 
them to do they never complain and 
always stay quiet. Sometimes, 
however, it is helpful if a computer 
can make some noise to catch your 
attention. In the KB-9 BASIC or 
Junior BASIC the ASCII character 07 
is an 'end of line' indicator, and 
represents 'BELL (control + G on 
the keyboard). The extended Junior 
does not use this signal, but it can if 
the circuit shown here is built. 
The circuit diagram shows just how 
simple the hardware for this 'bell' is. 
When the ASCII character 07 
(0000 0111) appears on lines 
BO . . . B6 (the data output lines of 
the UART on the Elekterminal) and 
the DAV (data available, UART 
pin 19) line is high (indicating that 

the whole character has been re-
ceived) the output of NAND gate N5 
goes 'low'. This  signal then goes to 
the TRIGGER input of monostable 
multivibrator IC3. The external timing 
components connected to pins 1, 2 
and 3 of this 4047B determine the 
width of its output pulse, and ad-
justing preset P1 varies this width. 
The Q output then goes high for a 
certain length of time and during this 
time T1 drives the buzzer. The cur-
rent consumption of the circuit is no 
more than 20 mA. 
The printed circuit board for this cir-
cuit is quite small, as could be ex-
pected. This is, of course, an advan-
tage when you are trying to squeeze 
it into what little space there is 
available in the case of most Elekter-
minals. Construction is simply a mat-
ter of fitting the components onto 
the board and the only point of note 

Parts list 

Resistor§: 

RI = 390 k 
R2 = 12 k 
P1 = 1 M preset 

Capacitors: 

Cl = 1 1.4/10 V Ta 
C2 = 100 n 

Semiconductors: 

D1,D2 = 1N4148 
T1 = BC 5478 
IC1 = 4049 
IC2 = 4068 
IC3 = 40478 

Miscellaneous: 

Bz = 5 . . . 6 V d.c. buzzer 

concerns diode D2. This diode may 
be replaced by a wire bridge if the 
buzzer volume is too low. 
The 'software for this bell is just as 
simple as the hardware. In the KB-9 
BASIC or Junior BASIC all it involves 
is: 
PRINT CHR $(7). 

W. Schaaij 


